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Background
As per [1], RAN 4 agreed to introduced CRS-IM receiver requirements for both scenario 1 and scenario2. In this paper, we provide our simulation results and views on issues about test setup on scenario 1.
Discussions
The simulation results for both scenario 1 and scenario 2 are captured in clause 2.1 and clause 2.2.
Scenario 1:
	[image: ]
	[image: ]

	[image: ]
	[image: ]



Figure 2-1:  BLER- SNR curve for scenario 1

Table 2-1: Summary of simulation results for scenario 1
	CRS port
	Duplex mode
	Antenna 
configuration
	SNR (dB)@ 70% of max TP
	Gain (dB)

	
	
	
	LLR weighting
	Baseline
	

	2 CRS pots
	FDD
	2T2R
	7.2
	9.3
	2.1

	
	
	2T4R
	4.3
	6.4
	2.1

	
	TDD
	2T2R
	7.0
	9.2
	2.2

	
	
	2T4R
	4.1
	6.2
	2.1

	4 CRS ports
	FDD
	4T2R
	7.5
	9.6
	2.1

	
	
	4T4R
	4.3
	6.4
	2.1

	
	TDD
	4T2R
	9.1
	10.6
	1.5

	
	
	4T4R
	5.6
	7.4
	1.8



In the last meeting, we agreed to configure CRS port for scenario based on performance gain of CRS-IM. Based on the simulation summary, both case with 2 CRS ports and 4 CRS ports have similar performance gain for FDD. However, gain of case with 4 CRS ports is smaller than case with 2 CRS ports for TDD. Hence, we prefer to configure 2 CRS ports for scenario 1.
Proposal 1: Only consider 2 CRS ports for scenario 1.
0. Scenario 2
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Figure 2-2: Simulation results for scenario 2
Table 2-2: Summary of simulation results for scenario 2
	CRS port
	Duplex mode
	Antenna 
configuration
	SNR (dB)@ 70% of max TP (By using LLR weighting)

	2 CRS pots
	FDD
	2T2R
	7.7

	
	
	2T4R
	4.3

	
	TDD
	2T2R
	8.4

	
	
	2T4R
	5.1
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